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1. Find the th1rd Taylor polynorpml-/bf r-féx) In(x + 1) at x=0.

2. R1sb0u11dedby y= \/_y x* ”(x-l—y)dA

3. Find the slope of the line that js-

nggn\ to the curve

le{?’ ~6= 5y3 + X-when x

' . 2 x-1 : — I,)J
4. Let f(xl=£§fzjgi—— find f 0T =

| x +3x—l_2 ’
5 Lz xi :_1 dx =
‘6 f ( )— o Fmd the 1nﬂ@@t«iejﬁ—pe1 l.if any, of the function.
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7. Find following integral.
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8. (@) Evaluate
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(b) Evaluate }grgwu—
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9. (a)Find .= or ylox+2= x/ /
' '.‘dy 3 2 4
(byFind == - - fory = (x +2)(2c -1,

1. Use Lagrange multipliers to find the maximum and minimum

'_ values of the fllllCthl‘l ! (x y)= e

constraintx” + ¥ =1.(10%)» 1

ey "

Bl

—_ dy ln\/_
2. solve the gwen initial value problem y =f(x) a % -where

-y
subject’ to the

i

=2 when 'x.=1 (lO%)‘

- t i‘w — ’—'—““ '
3. Approx1mate the amount 61" 14&’[51" I] eeded to make awatel

" tymbler of diameter 3 cm anld hehgli cm. Assume the walls of the

tmnbler are 0.2 cm 'th‘1ck. (10%)
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4. A mé,nlifactu'ring firm estimates that its total production of
J

- automobﬂe batteues n thous EI ol units is

S 3:/3;37 IE J
where x is ﬂle number of units of labor and y is the number of units
of capital utilized. Labor costs are $80 per unit, and capital costs are
51 56 per umt Hol\'.;v maﬁy units each of labor and capital Will

o
. maximize production, if the ﬁm

(10%)




